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Command | History
Size: 176.443mm
Grid: (0.344615, 0.344615) mm, (512, 512) pixels
Beam: radius=0.172307 mm, divergence=0 mm/lmm
Mode: scanline-per-CPU buffering
shade_inputs (s.hrlle) flip 6.906052-006
shade_inputs (s.hrlle) flip 1.96433e-005
ies/bl6_tie/b8 e/béa_ ie2
ies/bl6_tie/b8 e/ba_ ie3
.49862, 8.49862) isol=b_s.ties osol=b_
.00000mm 2t (-56.6, -5.21257, 2.75034) x330 y318 1vl3
0.389 user + 0.389 sys in 0.389 elapsed secs (100%)
Additional #melloc: #free=0, #realloc=40 (838 retained)
280077 hits + 726507 miss
800003 dups skipped, 360356 solid REP
262144 pixels in 0.10 sec = 2695568.12 pixels/sec
259731 rays  in 0.10 sec 2670755.78 rays/sec (RTEM
259731 rays  in 0.39 sec 667688.95 rays/CPU_sec
259731 rays  in 0.39 sec 67688.95 rays/sec (wallclock
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